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In[41]:=

cl =0.385386386

c2 =0.026
c3 =0.948394678
VE=-1

Vtbl = 0.323705358

0.385386
0.026
0.948395
-1

0.323705

FF[x_] :=y /. FindRoot[Vf+y+c1 Sqrt[y+c2Exp[(y—c3)/c2]] =x, {y, 1.5}]
Psiwi[x_] := (—c1/2+Sqrt[x—Vf+c1"2/4])"2
Psisi[x_] :=c3+c2*Log[l/c2* (((x-VE-c3) /cl)"2-c3+c2)]
For[i=0, i <20, i++,

££[i_] :=y /. FindRoot [FF[i » Vtbl /20] -y - c2 * Log[ (i * Vtbl /20 -VE -y -

(Psiwi[i*thl/ZO] —y) / Sqrt[1+ ((Psiwi[i *th1/20] —y) / (4*c2)) ~
2])*2/ (c1*2%c2) -y/c2+1] =0, {y, 0}];
Eps[i_] :=0.5Sqrt[ (2 ££[i] - c3 - Psiwi[i % Vtbl /20]) "2 -
(Psiwi[i#Vtbl /20] - e3) ~2];
Print[{i «Vtbl /20, ££[i], Eps[i]}]]



2 | Graphics2d.nb

{0., 0.68169

’

0.0050353

{0.0161853, 0.694798, O

{0.0323705,
{0.0485558,
{0.0647411,
{0.0809263,

{0.0971116,

0.

0.

0.

0.

0.

{0.113297, 0.773648, 0.

{0.129482, 0

{0.145667, 0.

{0.161853, 0.

{0.178038, 0.

{0.194223, 0.

{0.210408, 0.

{0.226594, 0.

{0.242779, 0.

{0.258964, 0.

786776, 0.
799875, 0.
812932, 0.
825926, 0.
83883, 0.0
851609, 0.
864212, 0.
876573, 0.

888598, 0.

707921, 0.
721058, 0.
734203, 0.
747354, 0.

760505, 0.

6}
00556161}
00613645}
0067627}
00744292}
00817916}
00897278}
00982412}
0107321}
0116936}
0127028}
0137503}
148217}
0158954}
0169406}
0179131}

0187506}

{0.27515, 0.900157, 0.019366}

{0.291335, 0.911068, 0.0196408}

{0.30752, 0.92108, 0.0194222}

{0.323705, 0.929855, 0.0185394}

: Expression
"Fori=0,i <10, i++, ff[i_] := y /. FindRoot[FF[i+Vtb1/10] - y — Log[1/(c1* 2xc2) (i*Vtb1/10 - Vf -y — (Psiwi[i»Vtb1/10] - y)/

Sqrt[1 + ((Psiwifi=Vtb1/10] - y)/(4 c2)) A 2]) A2 - y/c2 + 1] == 0, {y, O}]; Epsi_] := 0.5 Sqrt[(2 ff[i] -

0.91 - Psiwi[i*Vtb1/10]) A 2 = (Psiwi[i «Vtb1/10] - 0.91) A 2]; Print[{ff[i], Eps[il}]"

has no closing "".

Expression "(i*Vtb1/10 = Vf - y — (Psiwi[i=Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i*Vtb1/10] - y)/(4 c2)) » 2] - y/c2 + 1" has no closing ")".

: Expression "((Psiwi[i»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".

: Expression
: Expression
: Expression
: Expression
: Expression

: Expression

"((Psiwi[i*»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".
"((Psiwi[i»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".
"((Psiwi[i*»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".
"((Psiwi[i»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".
"((Psiwi[i*»Vtb1/10] - y)/Sqrt[1 + ((Psiwi[i»Vtb1/10] - y)/(4 c2)) A 2] - y/c2 + 1" has no closing ")".

"Sqrt[1 + (Psiwi[i=Vtb1/10] - y)/(4 c2)" has no closing "]".

: Expression "Sqrt[1 + (Psiwi[i«Vtb1/10] - y)/(4 c2)" has no closing "]".
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-0.177688 + x
: Tag Timesin |0.01|1 + [x_] is Protected. >

/002 + (-0.177688 + )2

. Failed to converge to the requested accuracy or precision within 100 iterations. >

In[51]:= For[i =21, i <100, i++,
££[i_] :=y /. FindRoot|[FF[i » Vtbl /20] -y - c2 » Log[ (i *Vtbl /20 -V -y -

(Psiwi[i*Vtbl /20] -y) / Sqrt[1l+ ((Psiwi[i*Vtbl/20] -y) / (4*c2))~
2])*2/ (c12%c2) -y/c2+1] =0, {y, 0}];

Eps[i_] :=0.58qrt[(2 ££[i] - Psiwi[i »Vtbl /20] -c3)*2-
(Psiwi[i »Vtbl /20] - e3) ~2];
Print[{i+Vtbl /20, ££[i], Eps[i]}]]
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